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Answer the followingpuestions: A

Ql:Chose the correct answer :

1. If the current in a 330 Q resistor is 15 mA, the applied voltage is approximately is

a. 5.0V b. 22V c.46V d. 60V

2. The output voltage from the voltage divider is
E1. 2 V R1b.4V 7 $10112

¢. 12 V 1* " ;=~ 1+-‘
<1. 20 v [ ft, ,1, P2...

3. In a closed loop, the algebraic sum of all voltages (both sources and drops)
a. is 0 b. is equal to the smallest voltage in the loop
c. is equal to the largest voltage in the loop d. depends on the source voltage

4. The total resistance, RT, of the group of resistors is
a_ 1'0 kg ,,............. ..

b. 2.0 kQ
c. 3.0 kQ
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5. An unbalanced Wheatstone bridge has the voltages
shown. The voltage across R4 is V R

’s
a. 4.0 V +12V=.—
b. 5.0V 7:
c. 6.0 V
d. 7.0 V
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6. If a 0.015 pl: capacitor is in series with a 6800 pF capacitor, the total capacitance is

a. 1568 pF b. 4678 pF c. 6815 pF d. 0.022 uF

7. Maximum power is transferred from a xed source when
a. the load resistor is ‘/2 the source resistance b. the load resistor is equal to the source resistance

c. the load resistor is twice the source resistance d. none of the above

8. When forward biased, a diod
a. blocks current b. conducts current c. has a high resistance d. drops a large voltage

9. The output frequency of the half wave rectier is .... ..the input frequency.
a. half b. same c. twice d. quadrupl

10. The average value of a half wave rectier voltage with a peak value of 100 is
a. 100/1: b. 200/1: c. 50/1: d. 300/1t
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Q2(a) Determine the current through a if ti]

0
l

200- ,uF capacitor whose voltage is 54}

shown in Fig.(l). Fig_(1)
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(b) Find the equivalent inductance 6mH stuff: Fig_(2)
. ti“ "3

L9,, seen between terminals a and b Vi",
of the circuit shown in Fig. (2).

Q3 Use the node-voltage method to
5 S1

nd the branch currents ia, ic, and 1vv»»~»~ ~
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ie in the circuit shown in Fig.(3). ' '_‘ -r’lq IQ le
128V q,l 6001;‘ son 320v

Fig.(3)

Q4 (a) Find the value of R that enables 12 9

the circuit shown in Fig.(4) to

deliver maximum power to the

terminals a,b. - H V RD Q

iii aaaaaaa Fig-<4)

(b) Find the maximum power l

delivered to R.

Q5 (a) Assuming that the diodes in the

circuit of Fig.(5) are ideal, nd the
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values of the labeled voltage, V, and 1° K"

current, I.

V:, .
(b) Describe the output voltage of Ii ‘J I D1

the circuit shown in Fig.(6). .=. ~~~~ ~<>v

Assuming the diodes to be ideal and
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V1 = I0 sin wt. Sketch one cycle of 5 kn Fig~(6)

the output voltage. _1O\r

Fig.(5)
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Answer the following_questi0ns:

Q1 :Chose the correct answer :

a. 5.0 V
T 1. If the current in a 330 Q resistor is 15 mA, the applied voltage is approximately is

2. The output voltage from the voltage divider is

b. 4 V
Vs +

24 v
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a. is0
3. In a closed loop, the algebraic sum of all voltages (both sources and drops)

4. The total resistance, RT, of the group of resistors is

b. 2.0 kQ
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5. An unbalanced Wheatstone bridge has the voltages

a. 4.0 V

The voltage across R4 is VS
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b. 4678 pF

6. If a 0.015 uF capacitor is in series with a 6800 pF capacitor, the total capacitance is

7. Maximum power is transferred from a xed source when

b. the load resistor is equal to the source resistance
8. When forward biased, a diod

b. conducts current

b. same

9. The output frequency of the half wave rectier is .... ..the input frequency.

a. 100/1:

10. The average value of a half wave rectier voltage with a peak value of 100 is
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KI)
Q2(a) Determine the current through a 200- so
,uF capacitor whose voltage is shown in

Fig'(1)'
0 i 2 5 4 T

_,(,

The voltage waveform can be described mathematically as

SOIV 0<t<I
100-—-501V l<t<:3

Um: --200-+s0:v 3<¢<4
0 otherwise

Since i = C dv/dt and C = 200 ,uF, we take the derivative of v to obtain

50 O<I<l
-50 1<t<:3» ___ -61(1)--200x10 x so 3<:<4

0 otherwise

iOmA O<t<l
--1OmA l<r~<3

_' 10mA 3<t<4
0 otherwise

Thus the current waveform is as i(mA) A
shown in Fig.
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Find La, at the temlinals of the circuit in Fig. ’
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L“, = 6 +10+ s||[s||(s +12)» 6]|(s + 4)]

=16+s||g4+4) = raw

Lgq == 20 mH
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Q 3) Use the node-voltage method to c_“L"' c (D i_"1"__

/Q ic 1:nd the branch cuents ia, ic, and ie 1

in the circuit shown in Fig. 4. 128 V 1'4 60 Q Hi 80 Q 320 V

$<>\J»§‘
%»

'5 L, Go 6

\‘L\/\ _ \'-53¢, _\, \<\I\ ._\3’\;-L_\_\§\

25‘ “\ ~‘5\‘1 =»\~'5se —-—-»©

&\l'1»\/\ §I___* Q

L,‘ '35., T = ‘='> X-<&3Q

2o\11.-1¢\1\ ...\(\[1__\_C|b\[,1__26-éo

grub“ @ j \j\ 2¢\\|lZ--3'5-éo Q?)

~r_, 2@\\\1-9.54”@:-ex Z; >»W:\<>3(,

25.'é\i7_:6\7,o __iQ2=2°°~\?

Z8:\]\ =’\7_g_\6.L
Cl

'3 "D
' \6z"“2.¢O /t-Q:--—-i. 1 -———-—-——~

L. ‘-1

#1-31° z°.,_3z@
\Q : i \-o i $;\lA

sn \J\ 4n \1=.1on

“~—-—-'-\h~vL "\' \f'--L = on) =r< O

1 \l'z--'51

2'c§\iL 7

- 's5%>~< - ~s~1~t ,_\~5;,¢,

\i\-. 7'¢\*1°;_rL5(’° = \G2*&

Q)



1.2 Q
Q4 (a) Find the value of R that enables the circuit 59 an ashown in Fig.(4) to deliver maximum power to the W iv“; ‘ll i ‘~terminals a,b.

72 v 20 K2 %R

_, ; l
(b) Find the maximum power delivered to R. it
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Q5 (a) Assuming that the diodes in the circuit of Fig.(5) are ideal, nd the valuesof the labeled voltage, V, and current, I.
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X OQ5(b) Describe the output voltage of the circuit
shown in Fig.(6). Assuming the diodes to be ideal

voltage.
‘

and V1 = 10 sin wt. Sketch one cycle of the output V‘ - %
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